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Locusts – antwoorden

1.	Why are the locusts a problem?
	They eat all there is, so there is no food left for people. 

2.	How far can the locusts travel in a day?
	More than 140 kilometers. 

3.	According to experts, what is the cause of the locust swarms?
	According to experts the climate crisis is the cause.

4.	Why is the wet weather great for the locusts?
	Because of the wet weather there are lots of plants they can eat. And the wet soil is perfect for them to lay their eggs.

[bookmark: _GoBack]5.	What is the most effective way to control a locust plague?
	Aerial spraying. Spraying/Dropping special chemicals from airplanes.
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